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private Lenkeliste<Integer> mindreEnnPivot ( Integer  pivot)
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Lenkeliste<T> mep = new Lenkeliste<T>();
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Lenkeliste<T> mep = new Lenkeliste<T>();
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Lenkeliste<T> mep = new Lenkeliste<T>();
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private void lTimSammenForan ( Lenkeliste<T> 11 ) {
private void limSammenForan ( Lenkeliste<Integer> Il) { -i 'F ( I -I -l . tom () ) {

if (!1l.tom() ) {

Il.bak.neste = |h.neste; -I -I . bak . nESte - -I h . I"IESte ;

lh.neste = Il.Ih.neste;

) Th.neste = 11.1h.neste;

} }
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private void TimSammenForan ( Lenkeliste<T> 11 ) {
if ¢! 11.tom(Q) ) {
11.bak.neste = Th.neste;
Th.neste = 11.1h.neste;
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T pivot = this.taUtForan(Q);

Lenkeliste<T> mep = mindreEnnPivot(pivot);
this.settInnForan(pivot);
TimSammenForan(mep) ;
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T pivot = this.taUtForan(Q);

Lenkeliste<T> mep = mindreEnnPivot(pivot);
this.settInnForan(pivot);
TimSammenForan(mep) ;
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Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();
mep = mindreEnnPivot(pivot);
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mep = mindreEnnPivot(pivot);
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Lenkeliste<T> mep = new Lenkeliste<T>();
e T pivot = this.taUtForan(Q);
mep = mindreEnnPivot(pivot);

pivot this.sorter();
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Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan(Q);
mep = mindreEnnPivot(pivot);
this.sorter();
mep.sorter();
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Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan(Q);
mep = mindreEnnPivot(pivot);
this.sorter();

mep.sorter();
this.settInnForan(pivot);
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Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan(Q);
mep = mindreEnnPivot(pivot);
this.sorter();

mep.sorter();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();

mep = mindreEnnPivot(pivot);
this.sorter();

mep.sorter();

this.settInnForan(pivot);
TimSammenForan(mep) ;
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public void sorter() {
Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();
mep = mindreEnnPivot(pivot);
this.sorter();
mep.sorter();
this.settInnForan(pivot);
TimSammenForan(mep) ;




public void quickSort() {
if (! tom(Q) ) {

Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();
mep = mindreEnnPivot(pivot);

mep.quickSort(); this.quickSort();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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public void quickSort() {
it (! tom(Q) ) {

Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();

mep = mindreEnnPivot(pivot);
mep.quickSort(); this.quickSort();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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public void quickSort() {
it (! tom(Q) ) {

Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();

mep = mindreEnnPivot(pivot);
mep.quickSort(); this.quickSort();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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public void quickSort() {
it (! tom(Q) ) {

Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();

mep = mindreEnnPivot(pivot);
mep.quickSort();
this.quickSort();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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public void quickSort() {
it (! tom(Q) ) {

Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();

mep = mindreEnnPivot(pivot);
mep.quickSort();
this.quickSort();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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public void quickSort() {
it (! tom(Q) ) {

Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();

mep = mindreEnnPivot(pivot);
mep.quickSort();
this.quickSort();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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public void quickSort() {
it (! tom(Q) ) {

Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();

mep = mindreEnnPivot(pivot);
mep.quickSort();
this.quickSort();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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public void quickSort() {
it (! tom(Q) ) {

Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();

mep = mindreEnnPivot(pivot);
mep.quickSort();
this.quickSort();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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public void quickSort() {
it (! tom(Q) ) {

Lenkeliste<T> mep = new Lenkeliste<T>();
T pivot = this.taUtForan();

mep = mindreEnnPivot(pivot);
mep.quickSort();
this.quickSort();
this.settInnForan(pivot);
TimSammenForan(mep) ;
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